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Step 6 : Channel 16 mxq-tdc vs mxq-adc



0

100

200

300

400

500

600

700

800

900

Step 6 : Channel 20 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 20 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

Step 6 : Channel 21 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 21 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

Step 6 : Channel 22 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 22 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

Step 6 : Channel 23 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 23 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

900

Step 6 : Channel 24 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 24 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

900

Step 6 : Channel 25 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 25 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

Step 6 : Channel 26 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 26 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

Step 6 : Channel 27 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 27 mxq-tdc vs mxq-adc

0

100

200

300

400

500

Step 6 : Channel 28 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−

1−

0

1

2

3

4

5

Step 6 : Channel 28 mxq-tdc vs mxq-adc

0

100

200

300

400

500

Step 6 : Channel 29 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−

1−

0

1

2

3

4

5

Step 6 : Channel 29 mxq-tdc vs mxq-adc

0

100

200

300

400

500

Step 6 : Channel 30 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−

1−

0

1

2

3

4

5

Step 6 : Channel 30 mxq-tdc vs mxq-adc

0

100

200

300

400

500

Step 6 : Channel 31 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−

1−

0

1

2

3

4

5

Step 6 : Channel 31 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

900

Step 6 : Channel 32 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 32 mxq-tdc vs mxq-adc

0

200

400

600

800

1000

Step 6 : Channel 33 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 33 mxq-tdc vs mxq-adc

0

10

20

30

40

50

60

70

Step 6 : Channel 34 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 34 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

700

800

900

Step 6 : Channel 35 mxq-tdc vs mxq-adc

mxq-adc
0 1000 2000 3000 4000

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 35 mxq-tdc vs mxq-adc



VPD - zTPC z
200− 100− 0 100 200

 [#
]

1

10

210

310

410

510

Step 6 : Outlier Rejection

it5All
Entries  1789511

Mean  0.03207− 

RMS     12.82

Step 6 : Outlier Rejection

 [cm]VPD - zTPC z
20− 0 20

 [#
]

1

10

210

310

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

it5avg
Entries  13076

Mean  0.001268− 

RMS     5.402

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

0

200

400

600

800

1000

1200

Step 6 : TPC vs. VPD z Vertex

TPC z
100− 50− 0 50 100

V
P

D
z

100−

80−

60−

40−

20−

0

20

40

60

80

100 it5zTPCzVPD

Entries  1789511

Mean x   13.41

Mean y   13.53

RMS x   20.05

RMS y    20.7

Step 6 : TPC vs. VPD z Vertex

0

2

4

6

8

10

12

14

16

18

20

22

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

 [cm]TPC z
100− 50− 0 50 100

 [c
m

]
V

P
D

z

100−

80−

60−

40−

20−

0

20

40

60

80

100
it5zTPCzVPDAvg

Entries  13076

Mean x   12.06

Mean y   11.89

RMS x   20.83

RMS y   20.95

Step 6 : TPC vs. VPD z Vertex using <East> & <West>



 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

1

10

210

310

410

West

East

West

East

Step 6 : # of Accepted Detectors

 # of Pairs
0 20 40 60 80 100 120 140 160

 [#
]

1

10

210

310

410

Step 6 : # of Valid PairsStep 6 : # of Valid Pairs



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

Detector # 0 Resolution Fit

 = 0.233615 [ns] σ

/DOF = 6.6976802χ

Detector # 0 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Detector # 1 Resolution Fit

 = 0.230757 [ns] σ

/DOF = 1.7778622χ

Detector # 1 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Detector # 2 Resolution Fit

 = 0.242459 [ns] σ

/DOF = 1.1961712χ

Detector # 2 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Detector # 3 Resolution Fit

 = 0.247524 [ns] σ

/DOF = 2.9628062χ

Detector # 3 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Detector # 4 Resolution Fit

 = 0.227003 [ns] σ

/DOF = 1.1160572χ

Detector # 4 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 5 Resolution Fit

 = 0.218263 [ns] σ

/DOF = 3.4738332χ

Detector # 5 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

Detector # 6 Resolution Fit

 = 0.223028 [ns] σ

/DOF = 2.4182562χ

Detector # 6 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

Detector # 7 Resolution Fit

 = 0.219115 [ns] σ

/DOF = 3.5823012χ

Detector # 7 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 8 Resolution Fit

 = 0.217459 [ns] σ

/DOF = 6.2089612χ

Detector # 8 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

Detector # 9 Resolution Fit

 = 0.219854 [ns] σ

/DOF = 1.5208542χ

Detector # 9 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 10 Resolution Fit

 = 0.222547 [ns] σ

/DOF = 1.6797932χ

Detector # 10 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

Detector # 11 Resolution Fit

 = 0.227564 [ns] σ

/DOF = 3.6298422χ

Detector # 11 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

Detector # 12 Resolution Fit

 = 0.240099 [ns] σ

/DOF = 6.1897292χ

Detector # 12 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 13 Resolution Fit

 = 0.209715 [ns] σ

/DOF = 10.1518712χ

Detector # 13 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

2.5

Detector # 14 Resolution Fit

 = 0.208902 [ns] σ

/DOF = 4.1895992χ

Detector # 14 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 15 Resolution Fit

 = 0.207293 [ns] σ

/DOF = 9.5408202χ

Detector # 15 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 16 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 16 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 17 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 17 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 18 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 18 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 19 Resolution Fit

 = 0.189048 [ns] σ

/DOF = 5.4235582χ

Detector # 19 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 20 Resolution Fit

 = 0.185291 [ns] σ

/DOF = 8.9461452χ

Detector # 20 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 21 Resolution Fit

 = 0.203925 [ns] σ

/DOF = 3.3497992χ

Detector # 21 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 22 Resolution Fit

 = 0.197847 [ns] σ

/DOF = 3.2195152χ

Detector # 22 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 23 Resolution Fit

 = 0.197089 [ns] σ

/DOF = 8.1007042χ

Detector # 23 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 24 Resolution Fit

 = 0.198704 [ns] σ

/DOF = 5.8328712χ

Detector # 24 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 25 Resolution Fit

 = 0.223581 [ns] σ

/DOF = 3.3960952χ

Detector # 25 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 26 Resolution Fit

 = 0.202199 [ns] σ

/DOF = 6.1382622χ

Detector # 26 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 27 Resolution Fit

 = 0.214395 [ns] σ

/DOF = 1.4412322χ

Detector # 27 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 28 Resolution Fit

 = 0.219375 [ns] σ

/DOF = 2.2385882χ

Detector # 28 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 29 Resolution Fit

 = 0.224805 [ns] σ

/DOF = 2.2394742χ

Detector # 29 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 30 Resolution Fit

 = 0.235518 [ns] σ

/DOF = 0.8886032χ

Detector # 30 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 31 Resolution Fit

 = 0.185581 [ns] σ

/DOF = 5.2774282χ

Detector # 31 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 32 Resolution Fit

 = 0.182420 [ns] σ

/DOF = 12.5464672χ

Detector # 32 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

2.5

3

Detector # 33 Resolution Fit

 = 0.159792 [ns] σ

/DOF = 0.9225392χ

Detector # 33 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 34 Resolution Fit

 = 0.191536 [ns] σ

/DOF = 7.3006502χ

Detector # 34 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 35 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 35 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 36 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 36 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 37 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 37 Resolution Fit



Detector
5 10 15 20 25 30 35

 R
es

ol
ut

io
n 

[ n
s 

]

0

0.05

0.1

0.15

0.2

0.25

Detector Resolution

 = 0.203959 [ns] σAverage 

Detector Resolution


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27


